

Vraag	Antwoord	Scores
-------	----------	--------

Opgave 3

13 maximumscore 3

- budget $40.200 \times 125 =$ 5.025.000 1
- werkelijke kosten $2.055.024 + 1.463.280 +$
 $1.125.000 + 502.500 =$ 5.145.804 1
- budgetresultaat € 120.804 nadelig 1

14 maximumscore 2

$(40.200 \times 1,5 - 64.320) \times 32 = \text{€ } 128.640$ nadelig

15 maximumscore 2

$(40.200 - 40.000) \times 27,50 = \text{€ } 5.500$ voordelig

16 maximumscore 2

- Gerealiseerde verkoopprijs $\frac{5.406.900}{40.200} = 134,50$ 1
- Het verschil is gelijk aan $40.200 \times (134,50 - 135) = \text{€ } 20.100$ nadelig 1